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Q, Preview Question

\w

= BoHED No Limit
Ul go Olegazo g BMsl duwlya) )Lkl bbe ol il 0
Interpret scatter plot that shows Crma Al B JlakY) saed AT Jabda yud
population of children from 2000 e 2l 2010 3 2000 (e 54N 8
to 2010 based on the shape of il J€&

distribution.
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There is no association

Juky) saci el alseY) ) Lalg

As the years increase number of children increase

Skl dlae il alged) )y Lal

As the years increase humber of children decrease

JubY) dae) cad aleel) )y Las

As the years increase number of children is fixed
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Q Preview Question

= BasEC 1-1‘& No Limit
Ol degaze gu bVl gai wly) HLil bhlase plaiiuwl i
Choose the scatter plot of the data Blo) aw 63l alilel) LGN Jahda 33
which shows a linear positive coaga

association.
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Q, Preview Question

ULl g Olgais elyoY lgolaziwly Wiod Juas Ul Ologdiunel] auw)

Refer to the scatter plot of the data
for two weeks in May and the
amount of ice cream sold at a
shop.

Use the line of best fit to make a
conjecture about the amount of ice

cream sold after 16 days.
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Q, Preview Question

= ﬁ o @ 2 1 1-1 | submit ‘ [Jd | No Limit
il Jglaz <l O
Ahmad surveyed students at his OF Aduyta b coUall leSUata) saal sia]
school about the type of electronic AgisSlas LY Ay S Bigay) g5
devices they own. A Gaiad) 13 Jgaall L8 X dad ang
Find the value of x in the two-way cabibad) (adls

table summarizing the data.

iPad No iPad Total iPad iPad —
30 X 40 Osilie X 40
Laptop Lopiop |
0l ¥
No Laptop 20 40 60 Laptop 20 40 | 60
Total 50 50 100 Sl 50 50 100
a 70 O
b. 10 O
C 60 O
d 90 O
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Q Preview Question

obidlg 3Syedll puwlio Sl

The data in the table represent the
results of a survey about distance
driven over spring break.

Find the median of the data set.

Distance Driven over Spring Break (km)

70 30 50 30

25 35 40 20

a 50
b. 32.5
< 35
d| 37.5

0%

= - S

\m

¢ gl il Jgaadl 8 clilbul) Jid
o) ddbe (B Ll deghaflal) dblusall
cllad) de ganal Jascusll agf

(km) gu! dlac o83 Laslly depladed) Lblug!

70 30 50 30
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Q Preview Question

Lyypaudiy SUill go dcgamal Glball GVl buwgio slzy)

The goals scored by a football

team are shown in the table.

Find the mean absolute deviation.

| Number of
Goals

3 1
2 6

a 1.5
b. 2
< 3
i 4.5
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Q Preview Question

= BE&EC 1-1‘& No Limit
Slibl Slsy jei Jul=d o
Mona took a survey of the number Qlad cfpe sae oo ledaia) e
of times his classmates went to ziliilly . gl 1aa Labuaad) ) LgSBlaa)
the cinema this month. The results coLiaf Jabadal) B daiaga
are shown in the line plot below. $dasaia A0Y) cjlall (e

Which of the following statement

is correct?
Number of Times to G Sl Ol e sis
Movie Theater Per Month reid] 3 Lo
X X X X "

X X X X X X X X

¥ 5% X X % % W % X

X 0 A b X X X X X X X
1 1 1 L | | 1 | 1 | L l | | | | | | | 1
I I 1 1 T T T ) T T 1 1 1 1] T T T T T T
0 1 2 3 4 5 6 7 8 9 0 1 2 3 4 5 6 7 8 9

17 4
a O

There range is 17

e Chuag! L) (bl ga Jauug)

The mean is the best measure to describe the center

5 3 3 O 539.51 Sla
There is a gap between 3 and 5

Jilaie aajgil)

Distribution is symmetric
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Q Preview Question

= BoHECT

No Limit

\m

leliiaiy Ol gimally lagiiually bIEUI 3oz 0

Which of the following terms best bl Ciay Juabl jias 45Y) julail) (e sl

describe points W, Y and R? ‘RsyY s W
¢
X W
B
1

dilaie o
Congruent
- n Y AT, I

b. B S O
Skew

ol S o
Coplanar
Basly daldiv)

; Baalg s o

Collinear
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Q Preview Question

dabliiall Ol giually Olagiimall 32z

How many planes appear in the

figure?

@ 6
b 4
< 7
i 5
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Q Preview Question

= BE&EC 1-1‘& No Limit
Slwli)l plaziwl wlusll Pi
Find the length of QR if Q is ‘Rs P (mai Q <ils 1)) QR Jsh 2l
between P and R, PQ = 5a — 2, s QR=5a sPQ=5a-2
QR = 5a, and PR = 38. .PR =38
/‘\ 38 cm
p T
a
R
= QR=9cm @)
b. QR =18 cm O
¢ QR=20cm @)
d QR =4cm @)

0%



Q Preview Question

= BoaET 11 ‘ﬂ No Limit
o gisall gl gulgd e
Find the length of 4B using the Bhal) aladiul AB Jsh aagl
ruler.
A B
L= L ]
|||J||1||||||||||||!||I||||||||||||||||||||1||!||!
cm 1 2 3 4
2 AB=2.6cm O
b. AB =2.5cm O
¢« AB=2.4cm O
d AB =12.8cm @

0%



Q Preview Question

= EoEHC 1-1‘& No Limit
o siinse b il b sla o
Find the coordinate of S, the dakadll Cuaiial) Aokl g S Clilaa) dal
midpoint of ML. ML dadiual
iy
M(4,2)
'_
i 0 X
—9
L$2, —2?
2 §(3,0) O
> 5(2,4) O
< 8§(1,2) O
O

4. $(6,0)

0%



Q Preview Question

= BE&EC 1-1‘& No Limit
dolaziwly glaws b @2yl gl Sluwl ¢ gaze 3l i
Find the value of x in the diagram. chaahaadl auyl) 8 x dad sl
105°/ ™\40°
105°
= >
¥ 10x
a  x =110 @
b. x=10 O
¢« x=755 O
d x=11 O

0%



Q Preview Question

= BEsECT 1-1‘IZI No Limit
ledubig gLl S jlsio Llgjs sl yols> o
Scissor lifts are variable elevation Bamia Jas Cilale & dualall cilad)))
work platforms. One is shown & JAY) b dsiage Was) L cilelad)y)
below, in the diagram, ABCD is g4l glgia o8 ABCD ¢ Jabish ac))
a parallelogram. IM2LA syl cmsB = 125° ) Lasd)

Suppose mzB = 125°, find m£A.

& meA = 35° @)
b. msA = 55° O
¢ mcsA =125° O
d  msA = 45° O

0%



Q Preview Question

= BoET | 1- ‘IZI No Limit
lgiuaiy gVl Sljlgio yUasl yolss P
Find the value of y in the .&)L.‘a‘j'. S)l5ia gﬁ y dasd aagl

parallelogram.

5{/_2 B

N
. yas o
| g o
¢« y=13 o
A o
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Q Preview Question

\w

= BEosEHCT No Limit
ol jlgio eyl JSidl 995 ol (ouds il bog il i )
Find the value of y so that the Sl JAN G Gy y daid angf
quadrilateral is a parallelogram. .&5.«‘:7 Slgia

& y=120 O
by =50 O
¢ y=20 O
.y =30 O

0%



Q Preview Question

= BaECC 1-1‘I7\I No Limit
gy OMubniiuell yolgs i )
Amal is building a new bookshelf lale s alaatiuly Al aa Cay Jal el
using wood and metal supports 2 Aaiagall daleal) Jia diismag duia
like the one shown. If the Sy Skt ISl iy IS 1Y) L5y geall
bookshelf is rectangle and .PN 14 LN =28 cm

LN = 28 cm, find PN.

= PN =56cm O
b. PN = 50 cm O
< PN=25cm O
d PN =75cm @)

0%



Q Preview Question

= BaECC 1-1‘IZI No Limit
lgiiasbiy Olumall yolgs i )
JKLM is a rhombus. O o She JKLM
If CK = 3 and JK = 5, find JC. JC 25 JK =5 5CK =3 »Is 1}
J
K
M
L
= JC=4 '®)
b JC=4.5 o)
« J€=3 '®)
i JC=6.4 O

0%



Q Preview Question

= BE&ECT 1-1‘IZI No Limit
liauboiy o)iall auis yolg> o
If WXYZ is trapezoid, find m2Z. (iyaia dad WXYZ oS 1)
M2LZ 1y
W__ X
o
95 v
Z
a. meZ = 35° O
b. msZ = 65° O
< meZ =55° O
d msZ =125° O

0%



Q Preview Question

EoET

No Limit

\m

leasbaig dgbygll 8yillall JSib polgs i )

If ABCD is a kite, and mzD = 60°, i, 5l (<5 o 5le ABCD S 1))

m«B = 100°, find m2A. amsB = 100° ymsD = 60° cils
MLA gl
A
D B
C
> mszA = 60° O
b msA = 100° O
¢ mzsA = 80° @)
d msA = 120° O

0%



Q Preview Question

degozall Ly y=i

Choose the correct answer.

» 14 €{2,4,6,8,....}

. 21€{3,6,9,12,....}

< Me{LN,P,R}

d S&{QRST}
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Q Preview Question

= BaET - ‘IZI No Limit
degoxall (o yolisdl dac Sl 0
Find the cardinal number of the set de ganall (i) auadl aagf
A ={15,17,19,..,30) A = (15,17,19, ..., 30}
a 7 O
b. 8 O
C 4 O
d 6 O

0%



Q Preview Question

Let U = {1,2,3,4,5,6,7,8,9} and

A ={1,3,5). Find 4.

2 A =1{2,4,6}

o A'=1{7,9)

< A'={2,4,6,7,8,9}

i A ={2,4)

0%

EoET

\w

U=1{1,23,45,6,78, 9} o
'A" "‘éJj * A = {1! 3! 5}3

No Limit
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Q Preview Question

= BaET - ‘IZI No Limit
degazal djll Olegazall dac sl o
Find the number of subsets of the de ganall Luijal) il ganall aae 2ag
set § = {M,N, 0}. .§={M,N, 0}
a 8 O
b 6 @)
¢ 4 O
d 3 O

0%



Q, Preview Question

BOEC i1 2| No Limit
Slegazall gy §yallg slxilllg glolaill L) o
Use the Venn diagram to find the yalie alay Venn (4 Jahia andi)
elements of the set 4 U B. A U B s gaad))
35
a. {5,10,15,20,25,30, 35,40} O
b.  {5,15,20,25,30,40)} O
¢ {15,25,30,40} O
4. {5,20} O

0%
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